N of reco track vs dxy [\ of associated (recoToSim) tracks vs dxy [N of associated (recoToSim) looper tracks vs dxy

2 F L L2 F
Q [=] o
fud So° £10°
3 g g
= ©
=t g 210°
10 =3
3
10*
10°
10°
10?
10?
10 10
- - il
— &
epoa001—5lo %??Eebmo
v |2 29
] | m ]
09% " " " d " 0.95° H . - H . - . 0.9% " " " " o " - 0. " " " N " " X
=25-20-15-10-5 0 5 10 15 20 25 =25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 =25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L 2
3 8
g =10
g
= ke
a10*
=3
=l

| |||||||||||||I||||||£|||||
4

|||||||||;||||||||||||||m|||||m 3 -
B e L

30 30 20 -10 0 10 20 30 °¥3p 20 -10 0 10 20 30

%0 -20 -0 0 10 20

track dz (cm) track dz (cm) track dz (cm) track dz (cm)

o
g

30



	Contents
	Page 1


